
 

Quick Info

Spare parts for Alphacool RTX 4090 Reference Design water cooler
 

• Comprehensive spare parts set

• Thermal pads, screws, O-rings

 

Scope of delivery

4x 8x8x1mm Thermal pad

2x 84x8x1mm Thermal pad

1x 15x15x1mm Thermal pad

2x 105x8x1mm Thermal pad

2x 50x15x1mm Thermal pad

1x 40x15x1mm Thermal pad

1x 45x45x3mm Thermal pad

1x 15x15x3mm Thermal pad

1x 8x40x3mm Thermal pad

2x 8x51x3mm Thermal pad

2x 8x100x3mm Thermal pad

6x M2x5 screws

6x EVA washer

1x M2x5 screw

5x M2x11 screws

3x M4x20 screws

3x O-rings

2x Gaskets

We assume no responsibility for any typing errors. Alphacool International GmbH, Marienberger Strasse 1, 38122 Braunschweig Tel: (+49)0531 288 740 Supportmail: info@alphacool.com

V. 1.000 // 09.2023

Alphacool spare parts for Eisblock RTX 4090 Reference
Design

Alphacool article number: 13442

Download Center



Download links

Product pictures 13442_Alphacool_spare_parts_for_Eisblock_RTX_4090_Reference_Design_pics.zip

Packaging dimensions per unit

L x W x H 200 x 165 x 10 mm

Weight 80 g

Other data

Certificates CE, FC, RoHS

EAN 4250197134422

Customs code 84199085900

Article text

Spare parts for Alphacool RTX 4090 Reference Design water cooler

We assume no responsibility for any typing errors. Alphacool International GmbH, Marienberger Strasse 1, 38122 Braunschweig Tel: (+49)0531 288 740 Supportmail: info@alphacool.com

https://download.alphacool.com/pics/13442_Alphacool_spare_parts_for_Eisblock_RTX_4090_Reference_Design_pics.zip

